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rgh ~> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2000 forsRGBdisplay L,=0%

Code La @ B Claa ha  1ob->rob
RedRof the elementary hueRIGB: y, o= 25.4, 92.3, 1622, 2717

00} 509 781 371 864 254  10000000)
OS(ReN) 254 390 185 432 254 05000000
OS(RWW) 731 90 185 432 254 10005005

5 step equidistant grey scalet* = 0.0, 238, 47.7, 715, 96.4

oo 00 00 00 00 00
n2sw 238 00 00 00 3253
nsOw 477 00 00 00 3251
714 00 00 00 3251 07507507
954 00 00 00 100100 1.0f

rgb ~> rgb* and CIE data of a elementary hue circle

according to CIE R1-47:2000 forsRGBdisplay L,

Code. Ly @ b g hay bt

RedRof the elementary hueRIGB: o= 25.4, 923, 1622, 2717
5

M0FR 514 766 365 849 254 1000000
05R+N) 285 383 182 424 254 0500000
05R:W) 734 383 182 424 254 1000500

5 step equidistant grey scal 1,508, 729,954
00 00 00000000}
00 3251 02502502
00 3248 05005005
730 00 00 00 3237 07507507
954 00 00 00 00 10010010

rgb -> rgb* and CIE data of a elementary hue circle

according to CIE R1-47:2009 forsRGBdisplay L,=0%
Code Ua @ b Claa he  rob->rob
16 step elementary hue circle with huesig, o= 25.4, 92.3, 1622, 271.

509 781 371 864 254  10000000)

522 719 652 971 421 10002500)

631 427 707 826 588 10005000)

5 27 197 755 10007500

: 7 767 70
5 step equidistant grey scalet* = 0.0, 238, 47.7, 715, 96.4
M00WEN 00 00 00 00 00

n2sw 238 00 00 00 3253
nsOw 477 00 00 00 3251

7S 714 00 00 00 3251 07507507
MOOw=W 954 00 00 00 00 10010010

rgb ~> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2000 forsRGBdisplay L,

Code Uy @ b Clapa he  rgb-wrgd
16 step elementary hue circle with huedhas o= 25.4, 92.3, 1622, 271.
0 849 254  1000.000.
913 421 1000250,

795 588 1000500.

755 1000750,

00 00000000
325.1 02502502
3248 05005005
3237 07507507
00 10010010

00

rgb -> rgb* and CIE data of a elementary hue circle

rgb -> rgb* and CIE data of a elementary hue circle

rgb -> rgb* and CIE data of a elementary hue circle

rgb -> rgb* and CIE data of a elementary hue circle

according to CIE R1-47:2009 forsRGBdisplay L,=1,2% according to CIE R1-47:2009 forsRGBdisplay L,=2,5% according to CIE R1-47:2009 forsRGBdisplay L,=1,2% according to CIE R1-47:2009 forsRGBdisplay L,=2,5%
Code Uy @ b g M rgb->robt || Code Uy oaa b Cma hw i Code Uy @ b Claa M rgb->robt || Code Uy oaa b Ctma hw i
RedR o the lementary hueRIGB: hy, = 25.4, 923, 1622, 271.7 || Red Rof the elementary hueRIGB: hy, = 26.4, 92.3, 1622, 2717 16 step elementary hue circle with huediys o= 25.4, 92.3, 1622, 2717 | 16 step elementary hue circl with huedz,
100] 752 359 834 254 10000000p| r00ER 530 726 804 254 1000000, 520 752 359 834 254  1000.0000| 345 804 254  1000.000.
05R#N) 315 376 179 417 254 050000000 OSR+N) 355 363 172 402 254  0500.000. 550 645 584 870 421  1000.2500) 539 803 421 1000.250.
O5R#W) 737 376 179 417 254 10005008 O5RsW) 742 363 172 402 264  1000500. 645 306 657 767 588 10005000) 617 721 588 100050
734 185 726 750 755  10007500) 712 756 1000750
§ step equidistant rey scalel = 10.9,32.0, 532, 743, 95.4 5 step equicitant grey scalek* = 18.0, 37.3,56.7, 76.0, 95.4 S step oquidistantgrey scalt = 109, 320,632, 743, 05.4 73,567,760, 95.4
00 00 00 00 nooow 00 00 00 000000001 nW00wN 109 00 00 00 00 00w o 00 00 00000000
321 00 00 00 3286 noZw 373 00 00 00 3253 02502502 25w 321 00 00 00 3256 nozsw 313 00 00 3253 02502502
51 00 00 00 nSw 567 00 00 00 3248 05005005 5w 51 00 00 00 nosow 567 00 00 3248 05005005
742 00 00 00 3235075075074 no7w 761 00 00 00 3237 07507507 07w 742 00 00 00 3235 075075074 notsw 761 00 00 3237 07507507
94 00 00 00 00 10010010 nOW=W 954 00 00 00 00 10010010 nOOwSW 954 00 00 00 00 10010010f| nioow 400 00 00 10010010

rgh ~> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2000 forsRGBdisplay L,=5%
Code L a% B Claa ha  fob->rob
RedRof the elementary hueRIGB: o= 25.4, 92.3, 1622, 2717

00} 550 676 22 749 255 10000000)
OS(ReN) 409 338 161 374 255 05000000
OS(R#W) 752 338 161 374 255 10005005

5 step equidistant grey scaleL* = 26.8, 439, 61.1, 78.2, 95.4

3237 07507507
954 00 00 00 00 10010010

rgb ~> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2009 forsRGBdisplay L,=10%
Code. Ly @ b g ha bt
RedRof the elementary huedIGB: fyp o= 25.4, 923, 1622, 2717

M0FR 588 588 280 652 254 1000000
05R+N) 484 204 140 326 254 0500000
05R:W) 771 204 140 326 254 1000500
5 step equidistant grey scalet* = 37.9, 523, 66.6, 810, 95.4

nO0OWSN 379 00 00 00 00 00000000
n25w 522 00 00 00 3255 02502502
ot 67 00 00 00 3244 05005005

81 00 00 00 3247 07507507
954 00 00 00 00 10010010

rgh ~> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2000 forsRGBdisplay L,=5%

Code Ua @ b Claa he  rob->rob
16 step elementary hue circle with huesn,

R 550 676 22 749 255 10000000)
25 601 524 475 707 421 10002500)
0] 677 34 554 647 589 10005000)
5 161 630 650 756 10007500
5 step equidistant grey scaleL* = 26.8, 43.9, 61.1, 78.2, 95.4

M000WEN 268 00 00 00 00

n2sw 439 00 00 00 3253
nsow  6L1 00 00 00 3251

nO7Sw 781 00 00 00 3237 07507507
MO0ow=W 954 00 00 00 100100 10§

00

rgb ~> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2009 forsRGBdisplay L,=10%

Code Uy e Clana hap  1b->rgb

16 step elementary hue circle with huedhas o= 25.4, 92.3, 1622, 271.
652 254 1000000
581 421 1000250,
512 589 1000500.
553 756 1000750,
23, 66.6,810,95.4
00 00 00000000f

00 3255 02502502
00 3244 05005005
00 3247 07507507
00 00 100100 10f

rgb -> rgb* and CIE data of a elementary hue circle

rgb -> rgb* and CIE data of a elementary hue circle

rgb -> rgb* and CIE data of a elementary hue circle

rgb -> rgb* and CIE data of a elementary hue circle

according to CIE R1-47:2000 forsRGBdisplay L, according to CIE R1-47:2009 forsRGBdisplay L,=40% according to CIE R1-47:2000 forsRGBdisplay L,=20% || according to CIE R1-47:200 forsRGBdisplay L

Code L a% B Claa hw  rob->rob || Code Ui @ By Claa e rob->rbt Code L a% B Claa hw  rob->rob || Code Ua @ By Claa hay 1ob

RedRof the elementary hueRIGB: fy o= 25.4,92.3, 1622, 2717 || RedRofthe elementary huedJGB: hyy o= 25.4, 923, 1622, 2717 16 step elementary hue circle wih huedia, 16 step elementary hue circle with huedia,

1001R 212 494 254 100000000 OO=R 772 244 116 271 254 1000000 & 212 494 254 2 2%

O5RWN) 588 223 106 247 254 05000000) O5R:N) 734 122 58 135 254 0500000 133 284 423 422 802 176

O5RHW) 805 223 106 247 254 10005008 O5R:W) 863 122 58 135 254 1000500 i 756 207 314 402 589 828 118 229 569

75 03 103 404 4 856 59 21 756

5 step equidistant grey scalel* = 52.0, 628, 73.7, 845, 95.4 5 step equiditant grey scalet* = 69.6, 76.1, 825, 88.9,95.4. 5 step equidistant grey scalet* = 52.0, 62,8, 737, 84.5, 95.4 5 step equidistant grey scalet 61,825,889, 95.4
520 00 00 00 00 66 00 00 00 00 00000000 000w 00 00 00w 6 00 000000004
€8 00 00 00 3251 761 00 00 00 3256 02502502 2w 628 00 00 00 3251 761 00 3256 025025021
77 00 00 00 3247 825 00 00 00 3260 05005005 nsow 737 00 00 00 3247 825 00 3260 050050054
845 00 00 00 3238 07507507 89 00 00 00 3242 07507507 075w B45 00 00 00 3238 07507507 89 00 3242 07507507}
94 00 00 00 00 10010010 94 00 00 00 00 10010010 nOw=W 954 00 00 00 00 10010010 95400 00 10010010f
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TUB-test chart KE55; CIE data sRGBdisplayLy:

010 40% input:w setgray

Elementary hue ReR, and 5 grey steps
T W Y

output: no change compared to i
T
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